stress test

1.

(—2z)% x 2%y® + (zy)A

é 1tép—e® 11 éxm. éxi inm

éxi ti1 11 &1
i%? 1171 111

& ep—i 1§ 1% & Y.

(—22)* x 2?y° + (ay)?
— 9232 x g%y3 = a2y?
= —42? x 2?2y + 2%y?
= 4 x gPXEX2 g yyBX2

= —4x a8 xy°

= —4x8y°

é 1§

(—22)% x 2%y® + (zy)?
— (=2)%22 x 2% + 2%y?
— 4a? x 22y = 2%y

— 4 x g2H272 432
=4 xz?xyt

= 4z?y

4 2, 35 ]

2.

~&B \

i a1y 81 eqeqi .
(—27)2 x 22y3 =+ (zy)? = —222% x 22y3 = 22y?
eqeq1 {8 8n. (—22)2 = (-2)%2% = 42
V148 11 B m
422 x 2298 + g2y? = —4 x g2XEX2 5 ¢3X2
éfeqiié efeqe’icnie én.
42 x x2y3 - .132y2
= 4 X 222 i 432
= —4z%y
6 &31°1 1% 1 én.
L J

6x—3y_z+4y_4x—5y

e¥laece i 1 e0©7

2 3 6
[ 2, S5 |
®2x+2y @Zm—Qy @x—i—y
@ z+2y ® 2z +y
— -2 4y) — (4o —
(mi ) = 262239 (ﬂ?(:r y) — (4 — 5y)
122 — 12y

22 —{—y(y —4)+4}e¥uecs i 1 111 21°714
31 e¥Yaéhi & ,11°711 &1 e¥ubelal &
célai

11144 én—i 1 —é %.

3 2, 3+ |

€ ,a+b—cl é°1

vV Vv
0
AL
w




(i ) =22 — (- +4y+4) =3y> -4y —14
a+b—c=3—-4—(—-4)=3

S N VT LV S am-- 1m

i &1 é,1’¢ am 1, /

/
N N AO 7 N EY-RITNERN e e !
1 1—€°11 é*11 1é" :

m
8°8j1 1.,8jé¥% ¢e°¢e° 1m , \

\
2m &§{'% é &” &, {é"n )
e N /e 2m
é617¢é? N

M1 2, Sh5 )

@(a2 +3a + 2)m?

@ (a® - 4a + 4)m?

@ (a® —3a+2)m?
® (a? +2a+ 1)m?

® (a*+6a+ 9)m?

~&B ~

éi1’é 1é7 €61 &, (a+1)m,1 61
6,1  (a+2)m
8°6141 {871 8178 (a+l)(at+2) =a’+3a+2

17¢ :.

5.

6.

Sml im 1% 826§ & &Y, 821 7

4 2a? x 5a® = 10a8
aj(22%)% = 628

5 . .10 _
+z=0

dca’xuz
a4 a5+l

i o (—2zy)* + da?y = 4a?y3

a L Aaj @ a

®a,
(@)écﬁ,én ® af,an

4 2a® x 5a® = 10a°
aj(22%) = 8af
3

af bt rrz=2

e (aa) <[ =2 vue [ i

16§1 11 & 6¥76077 [# 3, S|
® —6a? @ —6ab ® 6a
@ 6a2b ®)6ab?




(x4y):(x—2y)=T7:21%é 4 —8y e¥% = i
&1 11 éi1é, 8217 WA 3, oM ]
T T 2
5 3

B ~

étéjiil 1.1 et eée’ia et
€°1 Y46~ §
T(x—2y)=2(x+vy)

5
5z = 16 = —
z Y Y= 16"

5 5 3

4x—8y—4m—8xﬁx—4m—§x—2m

éxl I £MII§ 11 &31°

11— 17108 & &+ &1 e°1Y é°é¥’é?

éieée i7(@",6-18e 11°9)

W13 3, SH ]

® 2012 = (a—1b)?

@ 499° = (a+0b)?

® 9972 = (a+b)(a—0b)

@ 103 x 97 = (az + b)(cx +d)

(@)104><105 = (x+4a)(z+0b)

B ~

@ 2012 = (200 + 1)? = (a + b)?
@ 499% = (500 — 1)2 = (a — b)?
® 9972 = (1000 — 3)? = (a — b)?

@ 103 x 97 = (100+3)(100—3) = (a+b)(a—b)

eiie? [e°

9. (¢—1)(z—2)(z+2)(z+3) 1 &1 &

ép—i 6077

22 81 BYU

M1 3, SH ]

®3 @5 O7 @ -7

B ~
(z—1)(z —2)(z+2)(z+ 3)=
{(z-DE+2)H@ -2)(z+3)}

= (x> +z—2)(2®>+x—6)

A 831 é¥YU ep—i i1 & 8, —6x2 + 2% —
2% = 722

— 1‘28y42270

10. (zoybze)n

e ive

1 é§ijHi é 1199 ni &°1”

,a+2b—ci €°1 ép—i 1—é %.

[H4 3, S5t ]
B

>
>

0
|I-':'-
w

~&B ~

2) 28 42 170
7) 14 21 35
2 3 5
28,42 ,701 ipé &3pi el &° 14176 6 n=14
176 .
2284270 — (gagb e)id

a=2,b=3,¢c=5
L a+2b—c=24+6-5=3




11. é i

im 1%

EE & EY 6077

(Bl 3, S5t

23

@ 1225 = (=32y?) x (—y®)? = da*y*
4 2\ 2

O T xr=(L) =y
Y Y

12,11

ar+byihé ja+bi

>
>

a,b i

x~
S

c} -
=

Ct
=

7

€ 11— 3z -5y —{y—22z+3y)} =
&©3 ep—i 1 —é Y.

[HH 3, S5t

B \
3z — by — {y — 2(2z + 3y)}
=3z — by — (y — 4o — 6y)
= 3z — 5y — (—4x — 5y)
=3z — by + 4z + by

=3z + 4z — 5y + 5y
=B+4)r+(-5+5)y
=Tx

1766 a=7,b=01"¢n.

L a+b=7+0=7

1
13. (4my—m3y—3xy2)+§xy é¥hecei 16,1114
iGi

ep—i 16 Y.

(¥l 3, &3}

f—if 8e @1

>
>

~&B ~

1
(4zy — 23y — 3xy?) = 2%y
= (4oy — 3y — 3zy?) + il

= (4zy — 23y — 3zy?) x —
zy

=8—2z% — 6y

E L TR RE T

1éml {Gl ép—i €0 —2—-6+8=01 "€ x.
\ )




14. : i
en—f 1 =6 Y.
r+4y — {22 - By —0+y) +y} =52 — (3x + 2y)

(987 3, ot ]

éxml’e” € 1¥ eé°é"i ii

C} -
H =

>
> "HE . —32+9y

B \
z+dy— {20 - (3y—[__J+y) +u}
=z+4y— (22 -3y+[__|-y+y)
=z+4y— (2-3y+[__ )
=—z+Ty-[_ |

—m+7y—|:|:5x—3m—2y:2m—2y
" |:|:—:c+7y—2m+2y:—3:c+9y

| 7
15.1 &3 6,176 ami 1 1-6°{1 11 {61
88 2m 6§14 & 86—, 1 .86 3m 6§{%

6167 4 3, F5}]

@($2 —x — 6)m?

@ (2?2 -4z +4)m?

imi%eé ,i6n

@ (2% -9)m?

® (22 +x—6)m?

® (2% + 6z +9) m?

16.1 181 6 n 6°4jH ém é-

A [NEPN)

é. . 17¢° 3rxm 1

Y >

R B SR L

1 1—e°11 eheé-1 &°§1

6,17 ymBx > y) 6178 , 1 .61 @é,17€

as

migi—i 1&1° é%eé-1 é§éné % 11 ¢én.
| s ©l

el el 617°€7

S L N

(Bl 3, &3}

@ 922 + 6zy + y*(m?)

@ 922 — 6zy + y*(m?)

1é éhe-i e°¢i é,.1’¢ 3z + y(em),

1.,6j1 é,17€é

3z — y(em) 176 . &°8 %l

${e el 618 (Br+yBr—y) =

922 — y?(cm?) i ‘8 n.

17, 25F4 = 4==13 "y L8161 & , 21 %1% 1% &21 7

[BHH 4, SF ]

O -1 @1 @ 4 ® 5

O-




2:5—}-4 _ 22(2x—1)
x+4=202x—-1)

B =2

Aili

é1éx. éxi-l

18. 1 éx éni —r—2y+4é¥Uéileeé
Aé?

[ 4, TF]

dr4+y—31°

O —z+2y—-7 @ —x2+3y—3
® bz —2y+4 @5x+3y—7
® bx+3y+7

A+ (—x—2y+4)=4dr+y—3178 §

A=4z+y—-3)—(—z—2y+4)
=4dz+y—3+z+2y—4
=5z+3y—7

19. 61 11 ieo?

(4ab — 8ab + 2b) + (—2b) + (a*z — ax) + %:c

e°é i

[HHE 4, 5% ]

D a-1 @a2+a—1
® a?-1 @ a?—-a
® 2 +a-1

B ~

B ~

(4ab — 8ab + 2b) + (—2b) + (a’z — ax) X %

4a?b — 8ab + 2b n 3(a’x — ax)

—2b a8
=—-2a°+4a—1+3a%®—3a
=a’+a-1

20. A=2x—y, B=—x+2y—3i &3 | A—2B+5e¥% z,

yl €1 11%é eie’11 & ,21 &1 ,y1 &1,

1114 8°8° a,b,c8%{ 60 a+b+a &1 7
M 4, S5

@

@ 11 3 12 @ 13 ® 14

B ~
A=2r—y, B=—x+2y—3
A—2B+5=02z—y)—2(—x+2y—3)+5

=2r—y+2z—4y+6+5
=4z —5y+11
a=4,b=-5 c=11
€%l a+b+c=4+(-5)+11=10

3 1
21. —5(—2x+1)2+§(6x+5)(2x—3)i i 611l 2z

[BHH 4, 5% ]

11 10
@ -3 Ok

G -

1 8%y 8 7

D 4
@ -3




B ~

z1 631 8§ ep—f 607, (—22+1)211 wi

&1 & —4,(6z+5)(2r—3)11 z1 &1 & —8

. . N R X 3
é°% 1,1 1 e°111 z1 &1 é (—— X

(—4)+—><(—8):6—§:—

22, 217 x 5203 nzE) 1 1%l
A 1«1 & mithé ,n+mi &1 ép—i 1—é%.

i 5, F4]

11168, 32008

=
H -

| 2
> =g 21

B ~
217 x 520 = (217 x 517) x 5% = 125 x 107
n=20

3m1 i A 16 3,9,7,18 & s &
2008 = 4 x 5021 &~ & m =1

n+m=21

23. _4q - {3a+5b—2(a—26—:)} =—a—11b
e e i1
(i 5, 5% ]

@b—2a

® -3b-2a @ —b—4a

@ 2a+3b ® 3a+3b

—da—{3a+5b—2(a—20—[ ]}

=—da—(3a+50—20+4b+2 )
= —4a—-3a—5b+2a—4b—2 ]

=—5a—-9b-2  |=-a—11b

A =b-2

24. é 111 (331, yl) s (.7;‘2, yz)i e 11— (.7;‘1, yl) X
(w2, y2) = T120 +21Y2 +1T2 +y1y2 & 1 1 1 & 1.
176, (2x, y) x (—y, 3x)é¥4 e e i { 607

i 5, A

_6“0]

O —62% 4 2zy — 12 @ —62% + xy + 3>

@6w2 +xy — y?

® 222 —zy —y?

® 622 — zy + 3y>

2e X (—y)+2x x3z+y x (—y) +y x 3z

= 2y + 622 — y? + 3zy
=622 + 2y — y?

25. [a, b= (a+b)21% & ,[22, —3y]—2x [~x, 2]
e¥iecei { é0’7 A 5, 4]
O 222 — 4oy — 2y?

(@)2902 —dxy + 1

® 222 + dzy + 4y?

@ 222 — 4oy + 2y

@ 222 + 4oy + ¢




(2z —3y)? — 2 x (—x + 2y)?
= 422 — 12zy + 9y? — 2(2? — 4ay + 49°)
= 222 — dxy + 1>




